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. Find the binomial series for f(z) =

Find the 6th Taylor polynomials at g for f(z) = sinz.

1
\/1+x'

Find the Maclarin series for f(x) = tan™' .

CMR={(z,y)| -1 <z <1,-2 <y <2}, evaluate the integral //\/1 — 22 dA.
R

. Evaluate the double integral //(3: —3y%) dA, where R = {(z,9)|0 <2 < 2,1 <y <2}.
R

Evaluate // ysin(zy) dA, where R = [1,2] x [0, 7].
R

Find the volume of the solid that lies under the plane 4z 4+ 6y — 2z + 15 = 0 and above the
rectangle R = {(z,y)| -1 <2 <2,-1<y <1}

Evaluate / / (r + 2y) dA, where D is the region bounded by the parabolas y = 2z* and
D

y =1+ 22

Use a double integral to find the volume of the solid bounded by the coordinate planes and
the plane 3x + 2y + z = 6.

11
Evaluate the iterated integral / / sin(y?) dydz.
0 T

Use a double integral to find the area bounded by the line y = x — 1 and the parabola
2
y° =2z + 6.

Evaluate / / (32 + 4y*) dA, where R is the region in the upper half-plane bounded by the
R

circles 22 + 4> = 1 and 22 + 9% = 4.

Find the volume of the solid bounded by the plane z = 0 and the paraboloid z = 1 — 2% — 3.



14. Use a double integral to find the area enclosed by one loop of the four-leaved rose r = cos 26.

/ f(z,y) dzdy to polar coordinates.
3y

1
15. Convert the double integral /
0 JV3



(354) MARFEE 2019.6.19

AT ER AR
1 1 1 "
e e e a4
2 | 1- %:p + ng 156x3 + .. H&R
3 $—§+§—g+ HR
4 | 2r 15.1 — 4588 2
5 | —12 15.1 — 4% 5
6 |0 15.1 — 4% 6
7 | 51 15.1 — 24 37
3 % 15.2 — 138 1
9 |6 15.2 — H A8 29"
10 %(1 —cos 1) 15.2 — %% 5
11 | 18 15.2 — 478 3
12 %7? 15.3 — 48 1
13 g 15.3 — 419 2
14 g 15.3 — 49128 3
15 /Zar /1 f(rcos@,rsin@)rdrdd 15.3 — H A 31
Q Q
EHA, A




